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Decimal Numbers- |

How to Express Decimal Numbers (1)

J

< Instruction

IL| 0olL 00IL

il of 0.1 L is written as 0.0 L.

10
It is read as “zero point zero one litres.”

|
10 of 0.0 Lis written as 0.001 L.

It is read as “zero point zero zero one litres.”

1 of 0.1 mis written as 0.0 m.

|10
It is read as “zero point zero one metres.”

1 of 0.0 m is written as 0.00| metres.

10
It is read as “zero point zero zero one metres.”

<=»[3€0:]5 How many litres of water are in the containers shown
below?

0.lL O.IL

This is read as “zero —~
point two four litres”.
% D

0.24 " |L

Answer the following the amount of water and length of tapes.

L

0.1 L

0.1 L

L
o.lL 0.IL O.IL
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( Decimal Numbers-| A
1 1 - 2 How to Express Decimal Numbers (2)

== [3&n:dH 1 How many 0.01 L are needed to make 0.05 L, 0.09
L and 0.1 L, respectively? e ;&;

0.05 Lismade of| 5 |0.0l L.
One 0.0l Lis
0.09 Lis made of| ¢ |0.01 L. 00TL ,
Two 0.0l Lis
0.IL ismadeof| 10 ]001L  *%t

Answer the following questions.

How many 0.0| L are needed to make 0.04 L, 0.07 L, 0.12 L,
and |.23 L, respectively?

0.04 L is made of 0.0l L. 0.07 L is made of 0.0l L.

%% 0.12 L is made of 0.0l L. |.23 L is made of 0.0l L.

How many 0.001 m are needed to make 0.006 m, 0.008 m,
0.0l m, 0.1 m, respectively?

0.006 m is made of 0.001 m. 0.008 m is made of 0.001 m.

0.0l m is made of 0.00l m. 0. mis made of 0.001 m.

—»[3€01][5 2 What are the lengths indicated by the arrows?
4.28 4.29 43 (M) The

L R NN L1 | [

: tick shows é@éi
4.285 4.293 4.30] 0.001 m.

What are the lengths indicated by the arrows?

5.29 5.3 5.3 (m)

I|III|III|IIIIIIII|III
Y 1
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[ Decimal Numbers-| A
1 1 - 3 How to Express Decimal Numbers (3)

< Instruction Think about the relations between km and m, and

kg and g.
The relation between km and m: The relation between kg and g:
1000 m = | km 1000 g = | kg
IOOm(%oflkm) = 0.1 km |OOg(%of|kg) = 0.1 kg
0m (=0f 0.1 km) = 0001 km || 10g G5of0.1kg) = 0.001 kg
' m (% of 0.01 km) = 0.000km I g (I—lo of 0.0l kg) = 0.0001 kg

<=» (3B Convert the following to km or kg as indicated next to

%% the answer box. / %%
3km500m (km)| 3.5 |km 750 g (kg) | 0.75

kg

Convert the following to km or kg as indicated next to the answer

box.
2 km 400 m (km) | km 550 m (km) 3 km 30 m (km)
km km km
500 m (km) 950 m (km) 680 m (km)
km km km
4 kg 500 g (kg) | kg 250 g (kg) 2 kg 300 g (kg)
kg kg kg
900 g (kg) 750 g (kg) 880 g (kg)
kg kg kg
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( Decimal Numbers-|
1 1 - 4 Structure of Decimal Numbers (1)

N

J

. ——— 10
Decimal E
numbers — |
are just L
like whole O 0.1
numbers. L

0 L—— 0.0l
£a 1
" 0 L—— 0.00

< Instruction The relationship between |, 0.1, 0.0, and 0.00]|
are as follows:

|0 times

|0 times

|0 times

|0 times

e 2ELHE Write appropriate numbers in the

|0 times of 0.1 is

100 times of 0.1 is

Write appropriate numbers in the

|0 times of 0.01 is

100 times of 0.01 is

1000 times of 0.0/ is

I .
0 of 0.1 is

I .
00 of 0.1 is

I .
0 of 0.0! is

| .
m of 0.0! is

112
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[ Decimal Numbers-| )
1 1 B 5 Structure of Decimal Numbers (2)

= [3EmIE  2.34 is made of 234 units of 0.01s.

- 2.34
0.0 |~
2 IS equal to 200 O0.0ls. The structure
0.3 isequalto 30 0.0l's. of decimal —
04 isequalto 4 00l numbersare  } <27 {
just like whole
2.34 ismadeof 234 0.01s. numbers.

%% <2105 Write appropriate numbers in the

0.03 is equal to 3 0.0l's.

|6 units of 0.01's is equal to| 0.16

Write appropriate numbers in the

0.05 is equal to 0.01’s. @4 7 units of 0.01’s is equal to

0.63 is equal to 0.0l's. |8 units of 0.01’s is equal to

.37 is equal to 0.01’s. () 234 units of 0.01’s is equal to

3.04 is equal to 0.0l's. 105 units of 0.01’s is equal to

0.1 is equal to 0.0l's. |0 units of 0.01’s is equal to

| is equal to 0.0l's. 100 units of 0.01’s is equal to

113
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[ Decimal Numbers-| )
1 1 - 6 Structure of Decimal Numbers (3)

< [3€0];]5 Put the following numbers on the number line. Then
fill in the boxes using the letter in the correct order.

2.43 2.48 2.41 2.495 2.458
(3 2.41 (D 2.43 () 2.458 2248 (®2.495

AT
@ |<| 0 |<| ®|<| @ |< @ﬁ

Put the following numbers on the number line. Then fill in the boxes
using the letter in the correct order.

1 @o.09 0 0.07 0.025 0.045

0 0.05 0.1

< < < <
2 0.74 0.7 0.73 0.775 0.796
0.7 0.75 0.8
FETL ITTA IR ATA YU RRARt NRNRINI NCRUNRENA INRRURNATI ARARAIUATA RNRRUATATI ANARAINUNA ARURAINUTA ARNRANVETI RUURAL
< < < <
3! 0.33 0.31 0.387 0.342 0.365
0.3 0.35 0.4

< < < <

114
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( Decimal Numbers-| A
1 1 . 7 Structure of Decimal Numbers (4)

<=»[3€1];][5 Solve the word problem and write the answer in the
box. Mark where the answer belongs on the number

line.
3 and 0.65 together 3.65 4
0.03 less than 4 3.97 /
® @
3 3.5 4
|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||Y||||||||||||||||||||||||||||||||||||||||||

Solve the word problem and write the answer in the box. Mark the
answer belongs on the number line.

%% 5 and 0.46 together %%

0.05 less than 6

0.38 less than 6

0.02 greater than 5

0.1l greater than 5

Five |'s, three 0.1’s and eight 0.01’s together

586 units of 0.01’s together

525 units of 0.01’s together

5 55 6
||‘|||||||||‘|||||||||‘|||||||||‘|||||||||‘|||||||||‘|||||||||‘|||||||||‘|||||||||‘|||||||||‘||||I||||‘||
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Decimal Numbers- |

Structure of Decimal Numbers (5)

J

<@ Instruction The first place to the right of the decimal point is called

the Tenths Place (or the first decimal place) as we
have already learnt. The second place to the right of

the decimal point is called the Hundredths (— s)

Place (or the second decimal place).

tOW

is called the Thousands (——

decimal place) .

I OOO

It is equal to ﬁ :

100
It is equal

The third place to the rlght of the decimal point
’s) Place (or the third

[][] o] por] Joor oo [Joo o]
Ones Place Tenths Place Hundredths Place Thousandths Place
2 3 4 3

Decimal Point

A decimal place to the left is multiplied by 10. A decimal place to the
right is multiplied by - .

= [3€m5 What is 2.34 multiplied by 10?

What is 2.34 multiplied by -5 7

Tens Place | Ones Place | Tenths Place | Hundredths Place |Thousandths Place
| 2§ >3 i b |
D N
. |
0times| 23.4 T 0.234 [

Answer the following questions.

What is 4.12 multiplied by 10?
What is 0.284 multiplied by [007?

What is |.35 multiplied by % ?

What is |.54 multiplied by —

W JICA 44 AE& P110-123.indd 116
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( Decimal Numbers-| A
1 1 - 9 Addition of Decimal Numbers (1)

< [F€5 Calculate 1.75 + 2.64 by using the addition algorithm.

.75 .75 175
+ 2.6 4 +2.6 4 +26 4
L 39 i3 o

Write the two numbers Calculate as if we Place the decimal
so that the places are were adding whole point in the same
lined up. numbers. place as the other

two numbers.

Calculate the following problems by using the addition algorithm.

%% 2.47 + 4.32 .83 + 2.65 .45 + 0.7

204 7 .83
+ 4.3 2 + 2.65

7.62 + 1.29 2.64 + 3.17 0.6 + [.58

8.55 + 0.76 5.73 + 1.48 6.12 + 0.99

26.73 + 12.8| 4.945 + 0.371 6.809 + 7.272
Even if the number of digits increases, it can be ) ﬁ h

calculated in the same way as a whole number.
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( Decimal Numbers- |
1 1 B 10 Addition of Decimal Numbers (2)

J

< [3€];]5  Calculate 0.526 + 0.374 by using the addition algorithm.

0.5 2 6 0.5 2 6 0,5 2 6
3 7

+ 0.3 7 4B+ 0. 4L+ 0,3 7 4
0900 Og.:ﬂ&&”{

Write the two numbers  Disregard the first “0°  Place the decimal point
so that the places are of the numbers and in the same place as
lined up. calculate as if we the other two numbers.
were adding whole With decimals, any to
numbers. the right of the last digit

can be crossed out.

Calculate the following problems by using the addition algorithm.

Cross out any unnecessary zZeros.

i

0.56 + 0.34 3.29 + | 51 0.139 + 0.24/
0.5 6 3.9 2 0.1 3 9
+ 0.3 4 + 1.5 | +10.2 4 |
3.249 + 0.54| 0.074 + 0.586 0.157 + 2.623
2734 + 1.186 384 + 4516 0.147 + 0.753
|.249 + 4.35] 3725 + 1.175 0.341 + 3.659

118
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( Decimal Numbers-|
1 1 - 11 Addition of Decimal Numbers (3)

J

< [3€0];]5 Calculate 3.6 + 0.835 by using the addition algorithm.

3.6 3.6 0 0 3,6 00
+ 0.8 359+ 0.835Hp+ 0,8 3 5ﬁ

L 4 35 bbb 3 5

Write the two numbers  Think of 3.6 as 3.600.  Place the decimal point

so that the places are Calculate as if we in the same place as

lined up.t were adding whole  the other two numbers.
numbers.

Calculate the following problems by using the addition algorithm.

%% 28 + 0.34 45 + 253 .6 + 0.948 %%
2,80 4,510 .60 0

+ 0.3 4 + 2.5 3 + 0.9 4|8

5.3 + 0.76| 2.8 + 5.325 |.2 + 3.845
3.1 + 0.96 |18.5 + .57 59.3 + 0.78
25.2 + 3.86 21 + 9.46 | + 9.96

Weriting a 0 to align the numbers in the ﬁ ﬁ !

decimal places makes it easier to calculate.
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( Decimal Numbers-|
1 1 - 12 Subtraction of Decimal Numbers (!)

J

algorithm.
3.6 4
—2.76®

Write the two numbers
so that the places are
lined up.

—»[FEnl2 Calculate 3.64 — 2.76 by using the subtraction

15

3.6 %4 3.6 4
~2.76® -2/7 ¢
0 8 8 0.8 87

Calculate as if we

were subtracting
whole numbers.

Place the decimal
point in the same
place as the other

two numbers.

Calculate the following problems by using the subtraction algorithm.

456 — 2.34

4,56

— 12,34
4.03 — 0.86
8.23 — 6.84

48.85 — 27.96

3.26 — 2.48

3.2 6

— 2.4 8
241 — 1.85
5.84 — 4.89

37.24 — 5.95

6.85 — 4.96
7.36 — 5.47
.24 — 0.99
0.927 — 0.688
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[ Decimal Numbers-|
1 1 B 13 Subtraction of Decimal Numbers (2)

J

10

< [3€01];][5 Calculate 0.8 — 0.35 by using the subtraction algorithm.

7 10

0.8 W

0.8 0.8 1
~0.35®% _0.35®

— 0,3 5

0 45

O<:§>4 5‘{

Write the two numbers  Think of 0.8 as 0.80.
so that the places are  Disregard the first

lined up. “0” of the numbers

and calculate as if

&; oxo =2l we were subtracting
necessary to whole numbers.

subtract correctly.

Place the decimal
point in the same
place as the other
two numbers.

Calculate the following problems by using the subtraction algorithm.

0.6 — 0.37 45— 0.25 53 — 3.16
0.6 4.5
— 0.3 7 — 0.2 5
\ \ \
3.2 — 1.56 5.4 — 3.69 .4 — 0.87
6.2 — 4.56 8.6 — 7.59 0.2 —0.15
10.6 — 9.86 .83 — 0.936 14— 1,137
Like the addition algorithm, writing a O to align the numbers ﬁ

in the decimal places makes it easier to calculate.
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[ Decimal Numbers-|
11 -14
\.

< [F€0];]5 Calculate 3 — 0.456 by using the subtraction algorithm.

Subtraction of Decimal Numbers (3)

J

3. 3.0 & 3.8 X &
—0.4560—0.4560—0/456
25 4 4 2@5544*{

Write the two numbers
so that the places are
lined up.

Use 0 as

necessary to

Calculate the following problems by using the subtraction algorithm.

5—-0.25

5.0
0.2

0
5

6 —5.36
2 — .87
42 — 9.96

You can write a O to align the numbers in the decimal places.

subtract correctly.

Think of 3 as 3.000.
Calculate as if we
were subtracting
whole numbers.

Place the decimal point
in the same place as
the other two numbers.

7 — 3.46

7.0
3.4

| — 0.6]
4 — 3.18
9 — 0.036

Then you can calculate it easier.

3—1.19
|

8 — 7.94

10 — 9.21

2 — 1.097
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Decimal Numbers- |
11 - 15 Review

Ll_l Write the answers in the

3.46 is equal to 3 and

.23 is

2.34 is equal to

|.234 is equal to

2/

together.

I’s,

less than |.3.

0.l’s, and

Write the number in the

number line.

3.28
| I |

0.001"s.

3.29

3.3

0.01’s together.

that the arrow points to on the

A

A

A

L3_I Answer the following problems.

What number is 100 times as much as 0.678?

What number is % of 0.35?

le_l Calculate the following by using the algorithm.

0.48 + 1.37
0.76 + 2.47
2.35 — |.17
8.1 —7.13

2.67 + 4.47

1.273 + 3.817

595 — 3.86
5 — 3.999

5.84 + 1.69
2 + 9.68
6.4 — 2.17
| — 0.879
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